Nonlinear Functional Analysis and Applications Vol. 28, No. 4 (2023), pp. 919-928

ISSN: 1229-1595(print), 2466-0973(online)

https://doi.org/10.22771/nfaa.2023.28.04.05 http://nfaa.kyungnam.ac.kr/journal-nfaa Copyright © 2023 Kyungnam University Press



IMPROVED VERSION ON SOME INEQUALITIES OF A POLYNOMIAL

Rashmi Rekha Sahoo¹, N. Reingachan², Robinson Soraisam³, Khangembam Babina Devi⁴ and Barchand Chanam⁵

¹Department of Mathematics, National Institute of Technology Manipur, 795004, India e-mail: rashmirekhadps2000@gmail.com

²Department of Mathematics, National Institute of Technology Manipur, 795004, India e-mail: reinga14@gmail.com

³Department of Mathematics, National Institute of Technology Manipur, 795004, India e-mail: soraisam.robinson@gmail.com

⁴Department of Mathematics, National Institute of Technology Manipur, 795004, India e-mail: khangembambabina@gmail.com

⁵Department of Mathematics, National Institute of Technology Manipur, 795004, India e-mail: barchand_2004@yahoo.co.in

Abstract. Let P(z) be a polynomial of degree n and $P(z) \neq 0$ in |z| < 1. Then for every real α and R > 1, Aziz [1] proved that

$$\max_{|z|=1} |P(Rz) - P(z)| \le \frac{R^n - 1}{2} \left(M_{\alpha}^2 + M_{\alpha + \pi}^2 \right)^{\frac{1}{2}},$$

where

$$M_{\alpha} = \max_{1 \le k \le n} |P(e^{i(\alpha + 2k\pi)n})|.$$

In this paper, we establish some improvements and generalizations of the above inequality concerning the polynomials and their ordinary derivatives.

⁰Received February 6, 2023. Revised April 3, 2023. Accepted April 6, 2023.

⁰2020 Mathematics Subject Classification: 30A10, 30C10, 30C15.

⁰Keywords: Polynomials, inequality, zeros.

⁰Corresponding author: N. Reingachan(reinga14@gmail.com).

1. Introduction

If P(z) is a polynomial of degree n, then according to a well-known classical result due to Bernstein [2]

$$\max_{|z|=1} |P'(z)| \le n \max_{|z|=1} |P(z)|. \tag{1.1}$$

Also a simple deduction from the maximum modulus principle yields that,

$$\max_{|z|=R>1} |P(z)| \le R^n \max_{|z|=1} |P(z)|. \tag{1.2}$$

Both inequalities (1.1) and (1.2) are sharp and equality hold if p(z) has all its zeros at the origin.

As a refinement of (1.1) Frappier et al. [3] proved that

$$\max_{|z|=1} |P'(z)| \le n \max_{1 \le k \le n} |P(e^{ik\pi n})|. \tag{1.3}$$

It is evident that inequality (1.3) is a refinement of (1.1), since the maximum of |P(z)| on |z| = 1 may be larger than the maximum of |P(z)| taken over $(2n)^{th}$ roots of unity, as is shown by the simple example $P(z) = z^n + ia$, a > 0.

Aziz [1] improved the bound of inequality (1.3) by proving that, for every real α

$$\max_{|z|=1} |P'(z)| \le \frac{n}{2} (M_{\alpha} + M_{\alpha+\pi}), \tag{1.4}$$

where

$$M_{\alpha} = \max_{1 \le k \le n} |P(e^{i(\alpha + 2k\pi)n})|. \tag{1.5}$$

If we restrict ourselves to the class of polynomials P(z) having no zero in |z| < 1, then Erdös conjectured and later Lax [4] proved that

$$\max_{|z|=1} |P'(z)| \le \frac{n}{2} \max_{|z|=1} |P(z)|. \tag{1.6}$$

For the same class of polynomials, inequality (1.6) was improved by Aziz [1] by proving that, for every real α ,

$$\max_{|z|=1} |P'(z)| \le \frac{n}{2} (M_{\alpha}^2 + M_{\alpha+\pi}^2)^{\frac{1}{2}}, \tag{1.7}$$

where M_{α} is as defined in (1.5).

Further, if P(z) is a polynomial having no zero in |z| < 1, Aziz [1] also proved that, for every real α and R > 1,

$$\max_{|z|=1} |P(Rz) - P(z)| \le \frac{R^n - 1}{2} (M_\alpha^2 + M_{\alpha+\pi}^2)^{\frac{1}{2}}.$$
 (1.8)

Rather et al. [6] obtained a generalization of inequality (1.8) by proving that if $P(z) = a_0 + \sum_{j=\mu}^n a_j z^j$, $1 \le \mu \le n$, is a polynomial of degree n having no zero in $|z| < k, k \ge 1$, then for every real α and R > 1,

$$|P(Rz) - P(z)| \le \frac{R^n - 1}{\sqrt{2(1 + k^{2\mu})}} (M_\alpha^2 + M_{\alpha+\pi}^2)^{\frac{1}{2}},$$
 (1.9)

where M_{α} is as defined in (1.5) (see also [7, 8]).

They further improved the bound of (1.9) by involving $m = \min_{|z|=k} |P(z)|$ and obtained

$$|P(Rz) - P(z)| \le \frac{R^n - 1}{\sqrt{2(1 + k^{2\mu})}} (M_\alpha^2 + M_{\alpha + \pi}^2 - 2m^2)^{\frac{1}{2}}, \tag{1.10}$$

where M_{α} is as defined in (1.5). Further, by involving some coefficients of the polynomial, Rather et al. [6] improved the bound in (1.9) and proved that, if $P(z) = a_0 + \sum_{j=\mu}^n a_j z^j, 1 \le \mu \le n$, is a polynomial of degree n having no zero in $|z| < k, k \ge 1$, then for every real α and R > 1,

$$|P(Rz) - P(z)| \le \frac{R^n - 1}{\sqrt{2\left\{1 + k^{2(\mu+1)} \left(\frac{\frac{\mu}{n} |\frac{a_{\mu}}{a_0}|k^{\mu-1}+1}{1 + \frac{\mu}{n} |\frac{a_{\mu}}{a_0}|k^{\mu+1}}\right)^2\right\}}} (M_{\alpha}^2 + M_{\alpha+\pi}^2)^{\frac{1}{2}}, (1.11)$$

where M_{α} is as defined in (1.5). Rather et al. [6] improved inequality (1.10) under the same hypothesis and obtained,

$$|P(Rz)-P(z)| \leq \frac{R^{m}-1}{\sqrt{2\left\{1+k^{2(\mu+1)}\left(\frac{\frac{\mu}{n}\frac{|a_{\mu}|}{|a_{0}|-m}k^{\mu-1}+1}{1+\frac{\mu}{n}\frac{|a_{\mu}|}{|a_{0}|-m}k^{\mu+1}}\right)^{2}\right\}}} (M_{\alpha}^{2}+M_{\alpha+\pi}^{2}-2m^{2})^{\frac{1}{2}},$$

$$(1.12)$$

where $m = \min_{|z|=k} |P(z)|$ and M_{α} is as defined in (1.5).

2. Lemmas

We need the following lemmas to prove our theorems. This lemma is a special case of a result due to Frappier et al. [3].

Lemma 2.1. If $P(z) = \sum_{\nu=0}^{n} a_{\nu} z^{\nu}$ is a polynomial of degree n, then for $R \ge 1$,

$$\max_{|z|=R} |P(z)| \le R^n \max_{|z|=1} |P(z)| - \left(R^n - R^{n-2}\right) |P(0)| \text{ if } n > 2$$
 (2.1)

and

$$\max_{|z|=R} |P(z)| \le R^2 \max_{|z|=1} |P(z)| - (R^2 - 1) |P(0)| \text{ if } n = 2.$$
 (2.2)

Lemma 2.2. If $P(z) = a_0 + \sum_{j=\mu}^n a_j z^j$ is a polynomial of degree n having no zero in |z| < k, $k \ge 1$, then

$$\frac{\mu}{n} \left| \frac{a_{\mu}}{a_0} \right| k^{\mu} \le 1. \tag{2.3}$$

This lemma is due to Qazi [5].

The following four lemmas are due to Rather et al. [6].

Lemma 2.3. If $P(z) = a_0 + \sum_{j=\mu}^n a_j z^j$, $1 \le \mu \le n$, is a polynomial of degree $n \ge 2$ having no zero in $|z| < k, k \ge 1$, then for every real α ,

$$\max_{|z|=1} |P'(z)| \le \frac{n}{\sqrt{2(1+k^{2\mu})}} (M_{\alpha}^2 + M_{\alpha+\pi}^2)^{\frac{1}{2}}, \tag{2.4}$$

where M_{α} is as defined in (1.5).

Lemma 2.4. If $P(z) = a_0 + \sum_{j=\mu}^n a_j z^j$, $1 \le \mu \le n$, is a polynomial of degree $n \ge 2$ having no zero in $|z| < k, k \ge 1$ and $m = \min_{|z|=k} |P(z)|$, then for every real α ,

$$\max_{|z|=1} |P'(z)| \le \frac{n}{\sqrt{2(1+k^{2\mu})}} (M_{\alpha}^2 + M_{\alpha+\pi}^2 - 2m^2)^{\frac{1}{2}}, \tag{2.5}$$

where M_{α} is as defined in (1.5).

Lemma 2.5. If $P(z) = a_0 + \sum_{j=\mu}^n a_j z^j$, $1 \le \mu \le n$, is a polynomial of degree n > 2 having no zero in |z| < k, k > 1, then for every real α ,

$$n \geq 2 \text{ having no zero in } |z| < k, k \geq 1, \text{ then for every real } \alpha,$$

$$\max_{|z|=1} |P'(z)| \leq \frac{n}{\sqrt{2\left\{1 + k^{2(\mu+1)} \left(\frac{\frac{\mu}{n} |\frac{a_{\mu}}{a_{0}}|k^{\mu-1}+1}{1 + \frac{\mu}{n} |\frac{a_{\mu}}{a_{0}}|k^{\mu+1}}\right)^{2}\right\}}} (M_{\alpha}^{2} + M_{\alpha+\pi}^{2})^{\frac{1}{2}}, \quad (2.6)$$

where M_{α} is as defined in (1.5).

Lemma 2.6. If $P(z) = a_0 + \sum_{j=\mu}^n a_j z^j$, $1 \le \mu \le n$, is a polynomial of degree $n \ge 2$ having no zero in $|z| < k, k \ge 1$ and $m = \min_{|z|=k} |P(z)|$, then for every real α ,

$$\max_{|z|=1} |P'(z)| \le \frac{n}{\sqrt{2\left\{1 + k^{2(\mu+1)} \left(\frac{\frac{\mu}{n} \frac{|a_{\mu}|}{|a_{0}| - m} k^{\mu - 1} + 1}{1 + \frac{\mu}{n} \frac{|a_{\mu}|}{|a_{0}| - m} k^{\mu + 1}}\right)^{2}\right\}}} (M_{\alpha}^{2} + M_{\alpha + \pi}^{2} - 2m^{2})^{\frac{1}{2}},$$

$$(2.7)$$

where M_{α} is as defined in (1.5).

3. Main results

In this paper, we not only obtain improvement and generalization of inequality (1.8) but also improves inequalities (1.9), (1.10), (1.11) and (1.12) respectively. In fact, we proved

Theorem 3.1. If $P(z) = a_0 + \sum_{j=\mu}^n a_j z^j$, $1 \le \mu \le n$, is a polynomial of degree $n \ge 3$ having no zero in $|z| < k, k \ge 1$, then for every real α and R > 1,

$$|P(Rz) - P(z)| \leq \frac{R^{n} - 1}{\sqrt{2(1 + k^{2\mu})}} (M_{\alpha}^{2} + M_{\alpha + \pi}^{2})^{\frac{1}{2}} - \left(\frac{R^{n} - 1}{n} - \frac{R^{n-2} - 1}{n-2}\right) |P'(0)| \text{ for } n > 3 \quad (3.1)$$

and

$$|P(Rz) - P(z)| \leq \frac{R^3 - 1}{\sqrt{2(1 + k^{2\mu})}} (M_{\alpha}^2 + M_{\alpha + \pi}^2)^{\frac{1}{2}} - \left[\frac{R^3 - 1}{3} - (R - 1)\right] |P'(0)| \text{ for } n = 3, \quad (3.2)$$

where M_{α} is as defined in (1.5).

Proof. Applying Lemma 2.1 to the polynomial P'(z) which is of degree greater than or equal to 3 and using inequality (2.4) of Lemma 2.3, we obtain for $t \ge 1$

and $0 \le \theta < 2\pi$,

$$\left| P'(te^{i\theta}) \right| \leq t^{n-1} \max_{|z|=1} |P'(z)| - \left(t^{n-1} - t^{n-3} \right) |P'(0)|
\leq t^{n-1} \frac{n}{\sqrt{2(1+k^{2\mu})}} (M_{\alpha}^2 + M_{\alpha+\pi}^2)^{\frac{1}{2}} - \left(t^{n-1} - t^{n-3} \right) |P'(0)|. \quad (3.3)$$

Hence for each θ , $0 \le \theta < 2\pi$ and R > 1, we have

$$\left| P(Re^{i\theta}) - P(e^{i\theta}) \right| = \left| \int_{1}^{R} e^{i\theta} P'(te^{i\theta}) dt \right| \\
\leq \int_{1}^{R} \left| P'(te^{i\theta}) \right| dt. \tag{3.4}$$

Equivalently, (3.3) becomes

$$\left| P(Re^{i\theta}) - P(e^{i\theta}) \right| \leq \int_{1}^{R} t^{n-1} dt \frac{n}{\sqrt{2(1+k^{2\mu})}} (M_{\alpha}^{2} + M_{\alpha+\pi}^{2})^{\frac{1}{2}}
- \int_{1}^{R} \left(t^{n-1} - t^{n-3} \right) dt |P'(0)|
\leq \frac{R^{n} - 1}{n} \frac{n}{\sqrt{2(1+k^{2\mu})}} (M_{\alpha}^{2} + M_{\alpha+\pi}^{2})^{\frac{1}{2}}
- \left(\frac{R^{n} - 1}{n} - \frac{R^{n-2} - 1}{n-2} \right) |P'(0)|.$$
(3.5)

This implies for |z| = 1 and R > 1,

$$|P(Rz) - P(z)| \leq \frac{R^n - 1}{\sqrt{2(1 + k^{2\mu})}} (M_{\alpha}^2 + M_{\alpha + \pi}^2)^{\frac{1}{2}} - \left(\frac{R^n - 1}{n} - \frac{R^{n-2} - 1}{n-2}\right) |P'(0)| \text{ for } n > 3,$$

and similarly, for n = 3,

$$|P(Rz) - P(z)| \leq \frac{R^3 - 1}{\sqrt{2(1 + k^{2\mu})}} (M_{\alpha}^2 + M_{\alpha + \pi}^2)^{\frac{1}{2}} - \left[\frac{R^3 - 1}{3} - (R - 1)\right] |P'(0)|,$$

which completes the proof.

Remark 3.2. Inequalities (3.1) and (3.2) provide an improvement of inequality (1.9) when $P'(0) \neq 0$.

Theorem 3.3. If $P(z) = a_0 + \sum_{j=\mu}^n a_j z^j$, $1 \le \mu \le n$, is a polynomial of degree $n \ge 3$ having no zero in $|z| < k, k \ge 1$ and $m = \min_{|z|=k} |P(z)|$, then for every real α and R > 1,

$$|P(Rz) - P(z)| \leq \frac{R^{n} - 1}{\sqrt{2(1 + k^{2\mu})}} (M_{\alpha}^{2} + M_{\alpha + \pi}^{2} - 2m^{2})^{\frac{1}{2}} - \left(\frac{R^{n} - 1}{n} - \frac{R^{n-2} - 1}{n-2}\right) |P'(0)| \text{ for } n > 3 \quad (3.6)$$

and

$$|P(Rz) - P(z)| \leq \frac{R^3 - 1}{\sqrt{2(1 + k^{2\mu})}} (M_{\alpha}^2 + M_{\alpha + \pi}^2 - 2m^2)^{\frac{1}{2}} - \left[\frac{R^3 - 1}{3} - (R - 1) \right] |P'(0)| \text{ for } n = 3, \quad (3.7)$$

where M_{α} is as defined in (1.5).

Proof. Proof of this theorem follows on the same line as that of the proof of Theorem 3.1 but instead of using Lemma 2.3, we used Lemma 2.4. We omit the proof. \Box

Remark 3.4. Inequalities (3.6) and (3.7) give an improvement of inequality (1.10) when $P'(0) \neq 0$.

We next prove the following two results, which not only gives improvements of inequalities (1.11) and (1.12) but also provide an improvement and generalization of Theorems 3.1 and 3.3 under the same hypotheses.

Theorem 3.5. If $P(z) = a_0 + \sum_{j=\mu}^n a_j z^j$, $1 \le \mu \le n$, is a polynomial of degree $n \ge 3$ having no zero in $|z| < k, k \ge 1$, then for every real α and R > 1,

$$|P(Rz) - P(z)| \le \frac{R^{n} - 1}{\sqrt{2\left\{1 + k^{2(\mu+1)} \left(\frac{\mu}{n} |\frac{a_{\mu}}{a_{0}}|k^{\mu-1} + 1}{1 + \frac{\mu}{n} |\frac{a_{\mu}}{a_{0}}|k^{\mu+1}}\right)^{2}\right\}}} - \left(\frac{R^{n} - 1}{n} - \frac{R^{n-2} - 1}{n-2}\right) |P'(0)| \quad for \quad n \ge 3,$$
 (3.8)

926

and

$$|P(Rz) - P(z)| \leq \frac{R^3 - 1}{\sqrt{2\left\{1 + k^{2(\mu+1)} \left(\frac{\frac{\mu}{n} |\frac{a_{\mu}}{a_{0}}|k^{\mu-1}+1}{1 + \frac{\mu}{n} |\frac{a_{\mu}}{a_{0}}|k^{\mu+1}}\right)^{2}\right\}}} \left(M_{\alpha}^{2} + M_{\alpha+\pi}^{2}\right)^{\frac{1}{2}} - \left[\frac{R^{3} - 1}{3} - (R - 1)\right] |P'(0)| \text{ for } n = 3,$$
(3.9)

where M_{α} is as defined in (1.5).

Proof. Proof of this theorem follows on the same line as that of the proof of Theorem 3.1 but instead of using Lemma 2.3, we used Lemma 2.5. We omit the proof. \Box

Remark 3.6. Inequalities (3.8) and (3.9) yield an improvement of inequality (1.11) when $P'(0) \neq 0$.

Remark 3.7. To show that Theorem 3.5 yields a better bound than that of Theorem 3.1, it is sufficient to show that

$$\frac{1}{\sqrt{2(1+k^{2\mu})}} \ge \frac{1}{\sqrt{2\left\{1+k^{2(\mu+1)}\left(\frac{\frac{\mu}{n}|\frac{a_{\mu}}{a_{0}}|k^{\mu-1}+1}{1+\frac{\mu}{n}|\frac{a_{\mu}}{a_{0}}|k^{\mu+1}}\right)^{2}\right\}}}$$
(3.10)

that is,

$$1 + k^{2\mu} \le 1 + k^{2(\mu+1)} \left(\frac{\frac{\mu}{n} |\frac{a_{\mu}}{a_0}| k^{\mu-1} + 1}{1 + \frac{\mu}{n} |\frac{a_{\mu}}{a_0}| k^{\mu+1}} \right)^2$$

or

$$k^{\mu} \le k^{(\mu+1)} \frac{\frac{\mu}{n} |\frac{a_{\mu}}{a_0}| k^{\mu-1} + 1}{1 + \frac{\mu}{n} |\frac{a_{\mu}}{a_0}| k^{\mu+1}}$$

which is obvious by (2.3) of Lemma 2.2.

Theorem 3.8. If $P(z) = a_0 + \sum_{j=\mu}^n a_j z^j$, $1 \le \mu \le n$, is a polynomial of degree $n \ge 3$ having no zero in $|z| < k, k \ge 1$ and $m = \min_{|z|=k} |P(z)|$, then for every

real α and R > 1.

$$|P(Rz) - P(z)| \le \frac{R^{n} - 1}{\sqrt{2\left\{1 + k^{2(\mu+1)} \left(\frac{\frac{\mu}{n} \frac{|a_{\mu}|}{|a_{0}| - m} k^{\mu-1} + 1}{1 + \frac{\mu}{n} \frac{|a_{\mu}|}{|a_{0}| - m} k^{\mu+1}}\right)^{2}\right\}}} \times (M_{\alpha}^{2} + M_{\alpha+\pi}^{2} - 2m^{2})^{\frac{1}{2}} - \left(\frac{R^{n} - 1}{n} - \frac{R^{n-2} - 1}{n - 2}\right) |P'(0)| \text{ for } n > 3, (3.11)$$

and

$$|P(Rz) - P(z)| \le \frac{R^3 - 1}{\sqrt{2\left\{1 + k^{2(\mu+1)} \left(\frac{\frac{\mu}{n} \frac{|a_{\mu}|}{|a_{0}| - m} k^{\mu-1} + 1}{1 + \frac{\mu}{n} \frac{|a_{\mu}|}{|a_{0}| - m} k^{\mu+1}}\right)^2\right\}}} \times (M_{\alpha}^2 + M_{\alpha+\pi}^2 - 2m^2)^{\frac{1}{2}} - \left[\frac{R^3 - 1}{3} - (R - 1)\right] |P'(0)| \text{ for } n = 3, (3.12)$$

where M_{α} is as defined in (1.5).

Proof. Proof of this theorem follows on the same line as that of the proof of Theorem 3.1 but instead of using Lemma 2.3, we used Lemma 2.6. We omit the proof. \Box

Remark 3.9. Inequalities (3.11) and (3.12) yield an improvement of inequality (1.12) when $P'(0) \neq 0$.

Acknowledgments: We are grateful to the referees for their useful suggestions.

References

- A. Aziz, A refinement of an inequality of S. Bernstein, J. Math. Anal. Appl., 142(1) (1989), 226–235.
- [2] S. Bernstein, Lecons Sur Les Propriétés extrémales et la meilleure approximation desfunctions analytiques d'une fonctions reele, Gauthier-Villars, Paris, 1926.
- [3] C. Frappier, Q.I. Rahman and S. Ruscheweyh, *New inequalities for polynomials*, Trans. Amer. Math. Soc., **288** (1985), 69–99.

- [4] P.D. Lax, Proof of a conjecture of P. Erdös on the derivative of a polynomial, Bull. Amer. Math. Soc., 50 (1944), 509–513.
- [5] M.A. Qazi, On the maximum modulus of polynomials, Proc. Amer. Math. Soc., 115(2) (1992), 337–343.
- [6] N.A. Rather, S.H. Ahangar and M.A. Shah, Some inequalities for the derivative of a polynomial, Int. J. Appl. Math., 26(2) (2013), 177–185.
- [7] T. B. Singh, K. Krishnadas and B. Chanam, L^r inequalities of generalized Turán-type inequalities of polynomials, Nonlinear Funct. Anal. Appl., 26(4)(2021), 855-868.
- [8] R. Soraisam, N. K. Singha and B. Chanam, *Improved bounds of polynomial inequalities with restricted zero*, Nonlinear Funct. Anal. Appl., **28**(2)(2023), 421-437.